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ES-212: INTEGRATED LEARNING AND 
TEACHING IN PRIMARY SCHOOLS 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All questions are compulsory. 

(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words : 
Discuss the implications of integrated approach 
for formulating the objectives of education and 
content selection. 

OR 
Discuss various factors which facilitate integration 
in your subject. 

2. Answer the following question in about 
600 words : 
How can quizes and games be used for interactive 
instruction ? Discuss their process of planning and 
execution in classroom. Cite suitable examples. 

OR 
What do you understand by experiential 
learning ? How field visits and surveys can be used 
for it ? Explain with examples. 
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3. Answer any four of the following questions in 
about 150 words each : 

(a) How is a reflective learner different from an 
active learner ? Explain with example. 

(b) What skills does a teacher need to practise 
integrated learning approach ? 

(c) Differentiate Concept Attainment Model 
(CAM) from Inquiry Training Model (ITM). 

(d) How will you use brainstorming in your 
class ? illustrate with example. 

(e) What should be the considerations for 
choosing a 'Theme' for a project ? 

(f) Discuss the role of a teacher in formulating 
a project. 

4. Answer the following question in about 
600 words : 

Identify a theme from a subject which you are 
teaching at primary level. Plan the different group 
project works, which you will assign to minimum 
four small groups and explain the expected 
outcomes of the projects. 
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